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7 2. +(1kgf/em)oll 2lst 2SH=(P) (B kgf)
#7 | Y9Hmm)| 900 450 | 22.56 | 11.256 | TA%
80 98 106 57 29 14 75
100 118 154 83 42 21 109
125 144 230 124 63 31 162
150 170 320 173 88 44 226
200 222 547 296 151 75 387

950 274 833 | 451 | 230 115 | 589
300 326 | 1,180 | 638 | 325 163 | 834
350 378 | 1,587 | 858 | 437 219 | 1,122
400 429 | 2,044 | 1,106 | 563 | 283 | 1445
450 480 | 2559 | 1384 | 706 | 354 | 1,809
500 532 | 3,143 | 1,701 | 867 | 435 | 2,222
600 635 | 4,478 | 2423 | 1235 | 620 | 3,166
700 738 | 6,049 | 3273 | 1669 | 838 | 4277
800 842 | 7.874 | 4,261 | 2172 | 1,091 | 5,568
900 945 | 9,919 | 5368 | 2,736 | 1,374 | 7,013
1000 | 1,048 | 12,199 | 6,602 | 3,365 | 1,691 | 8,626
1100 | 1,144 | 14,536 | 7.867 | 4,101 | 2.014 | 10,278
1200 | 1,255 | 17,494 | 9.467 | 4,826 | 2,424 | 12,370
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3 | 97 o o EXB | A & Hkg |dEZ0]
mm | mm | P(kg) |PSHIE ¥ Ekg| Fe Fn | Lim
80 98 29 36 3,771 10 26 11
100 118 42 52 0,467 14 39 13
125 144 63 78 8,143 22 58 16
150 170 88 110 11,349 30 81 19
200 222 151 188 19,353 51 139 24
250 274 230 287 29,482 76 213 30
300 326 325 406 | 41,734 107 | 304 35
350 378 437 546 33,666 142 411 40
400 429 563 703 43,363 180 | 531 45
450 480 706 882 | 54,286 | 223 | 668 49
500 532 867 | 1,083 | 66,685 | 270 | 825 54
600 635 | 1,235 | 1,543 | 95,007 | 375 |1,186| 63
700 738 | 1,669 | 2,086 | 128,328 | 494 (1,614 71
800 842 | 2,172 | 2,715 | 111,363 | 628 | 2,118 79
900 945 | 2,736 | 3,420 | 140,276 | 772 |2,687| 87
1000 | 1,048 | 3,365 | 4,206 | 155,269 | 927 [3,327| 94
1100 | 1,144 | 4,010 | 5,012 | 164,460 | 1,082 |3,988| 100
1200 | 1.255 | 4.826 | 6.032 | 185.553 | 1.270 |4.832| 108
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siganAE A 2o ZIojol w2 TR HlmE
= = (St :mm)

q_ 7(:)1 KP/M _Jx_?_]_t::_ T}_?_]_E %J—._LZ% 1M 2M 3M 4M 5M oM
1 2 | dee=Agr | 1 9 5180 = A8 (%) 1.0 17.5 | 34.9 | 52.4 | 69.8 | 87.3 | 104.7

80 |11.5]6.3 20 9358 16 1.2 20.9 41.9 62.8 83.8 | 104.7 | 125.7
100 |9.66.4 20 8755 18 1.4 24.2 48.9 73.3 97.8 | 122.2 | 146.6
125 | 7.9]6.3 20 7353 19.5 1.6 27.9 25,9 83.8 | 111.7 | 139.7 | 167.6
150 | 6.7]6.7 20 70|57 21 1.8 31.4 62.9 94.3 | 125.7 | 157.1 | 188.6
200 [5.2]6.7 20 5951 21.5 2.0 34.9 69.8 | 104.8 | 139.7 | 174.6 | 209.5
250 |4.2] 7.1 20 4547 21.5 2.2 38.4 76.8 | 115.2 | 153.7 | 192.1 | 230.5
300 | 3.61/6.9 20.5 3850 21.5 2.4 41.9 83.8 | 125.7 | 167.6 | 209.6 | 251.5
350 |3.2]7.2 21 RN 21.5 2.6 45.4 90.8 | 136.2 | 181.6 | 227.0 | 272.5
400 |3.2]7.0 924 241586 18 2.8 48.9 97.8 | 146.7 | 195.6 | 244.5 | 293.4
450 (32| 6.6 26.5 27151 23 3.0 2.4 | 104.8 | 157.2 | 209.6 | 262.0 | 314.4
500 [3.0]6.8 28 2656 19.5 3.2 95.9 | 111.8 | 167.7 | 223.6 | 279.5 | 335.5
600 | 3.0/ 6.6 33 1.5]5.9 17.5 3.4 59.4 | 118.8 | 178.2 | 237.6 | 297.1 | 356.5
700 | 2.9]6.5 37 2.506.0 39 3.6 62.9 | 125.8 | 188.7 | 251.7 | 314.6 | 377.5
800 [2.9]6.3 49 24]5.8 34.5 3.8 66.4 | 132.8 | 199.3 | 265.7 | 332.1 | 398.5
900 [ 2.81]6.2 46 2552 49 4.0 69.9 | 139.9 | 209.8 | 279.7 | 249.6 | 419.6
1000 | 2.8 6.1 51 22155 41 4.2 73.4 | 146.9 | 220.3 | 293.7 | 367.2 | 440.6
1100 [ 2.8 ] 6.1 55 2451 485 4.4 76.9 | 1563.9 | 230.8 | 307.8 | 384.7 | 461.7
1200 | 2.8 6.0 60 26| 4.7 e 4.6 80.5 | 160.9 | 241.4 | 321.8 | 402.3 | 482.7
4.8 84.0 | 167.9 | 251.9 | 335.9 | 419.9 | 503.8
& 5.0 | 87.5 | 175.0 | 262.5 | 350.0 | 437.4 | 524.9
1. KP/MZOIE 9.2 91.0 | 182.0 | 273.0 | 364.0 | 455.0 | 546.0
Pa+Ds 5.4 94.5 | 189.1 | 283.6 | 378.1 | 472.6 | 567.2
@ arc tanﬁ 5.6 98.1 | 196.1 | 294.2 | 392.2 | 490.3 | 588.3
5.8 101.6 | 203.2 | 304.7 | 406.3 | 507.9 | 609.5
® arc tan (d3~de)/2+(d2~de)/2 % X=(P1+Ps 6.0 | 105.1 | 210.2 | 315.3 | 420.4 | 525.5 | 630.6
P 6.2 108.6 | 217.3 | 325.8 | 434.5 | 543.2 | 651.8
9 TZOE 6.4 112.2 | 224.3 | 336.5 | 448.7 | 560.8 | 673.0
(P-F-G)/2 FEAX) 6.6 | 115.7 | 231.4 | 347.1 | 462.8 | 578.5 | 694.2

@ arc tan——5=""" OR arc tan DE 6.8 | 119.2 | 238.5 | 357.7 | 477.0 | 596.2 | 715.5
(B=DE)/2+(E-DE)/2+Y 7.0 122.8 | 245.6 | 368.4 | 491.1 | 613.9 | 736.7

@ arc tan T x X=(P-F-G)/2 10.0 | 176.3 | 352.7 | 529.0 | 705.3 | 881.6 | 1058.0
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